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(1] KoMic#z X

(1) 1 < |2] < 2 LOFMBIE ©(2) T, ROEEREMEZAT-TODERD K.

100, 1 D6y
B(z) = |2 = A
0, |z|=2084.

(2) EPFHH = {Imz > 0} LOFRAIBIE U(2) TROBERSEMZ2 W THOERD X,

1, —l<z<1D8Eh;
0, z<—-1%F7%lFz>1D5H

(¥ b :VU(:z)=a-Arg(z—1)+b-Arg(z+1)+c £ BWVTa,bc EFBITED X))
L3

(1) HIR DGR S B(2) = alog|z| +b DKL D, 2T Ta, b%

alog1+ b =100, alog2+b=0

Zii7e &k D IGERIFTR W, BAEWIZIE a = —100/1og2, b =100 & LT
100

) U By FTEVLBTHLLET S L a,b, clZOWTDOEME
c=0, ma+c=1, ma+wb+c=0

%DT
a=1/m, b=-1/m, ¢=0.
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